. ™) e ﬁ ¥ drar (99—
1. Which among the following (State — Coal @

region) is correctly matched? el '\E{qﬁ"ﬁ &7 . aREw S —
(A) Madhya Pradesh ~ (B) west Bengal - (A) Feg<e — XHITG (B) b
Ramgarh Betul ; '
(©) Sdisgal— (D)'J'hark}-\and = (€) aNfee — TR (D) ARES — XIS
ambalpur arguja
2. Which amo‘:\g the fo||owings(RigV:r— : \2/(3(!=|ﬁﬂﬁ§’d ¥ P (& - T forem) A
A Associated District) is not correctly matched? ‘ '\ﬂﬁ%ﬂ el 87 \ :
(A) Kakni - Jaisalmer  (B) Banganga - Jaipur (A) FIEf — SHeerR (B) STORTT — STAR
(C) Vatrak - Banswara (D) Dai - Ajmer ' (C) a=® — qigarer (D) TS — CELH
3. Which of the following will get irrigation 3. fmifdd # 9 fFg wad §8Y gRETSTT ﬁ
benefits from the Parvan Mega project? : Riarg gfaen ferfr? i
() 637 villages of Jhalawar, Baran and Kota (A) SIETATS, 9RT AR Pier forell @ 637 Tfar
districts ' 2B .
(B) Z?Sinzgages of Bundi, Kota and Baran (B) 481, BT 3R ARt el B 5.35 Tﬁa’r EE‘TV ‘
- (C) 637 villages of Jhalawar, Bundi and Kota © igrm'g Eﬁﬁ IR prer Rl & 637 Jfdl
(D) gi?aséri/clﬁages of Pratapgarh, Jhalawar and | (D) gaT9iTg, SATeIarS Gﬁ"\f BT ﬁTﬂ’f % 535
Kota districts Tfdl
4 When was President Rule imposed in yﬂﬁ T gAe A S g Hd 2?\? ?FRUT
Rajasthan due to unclear majority in the IR W?Crf?f ETR:H P9 AT AT
Assembly.Efe.ctions? | ; - o7
(A) 1977 - (B 1967 - - | (A) 1977 | '.(B) 1967 .
(C) 1992 (D) 1980 . (C) 1992 (D) 1980 |
5. As per Census — 2011, the district havmg Ieast 5 SO 2011 & \“ﬂw IR H 319 forar
rural sex ratlo in Rajasthan was - \-/ H 7rfiop %FTE{C[H W’\ﬁ BH L, 98 § —
(A) Tonk . (B) Dholpur | (M) Te ®) R |
(C) Jaisalmer (D) Barmer O YwER (D) TR
6. Which leader of the Marwar Lok Parishad died * \5/\7}'51 H 3= ® %ﬁﬂlﬁ T TS B BRI
_in June 19, 1942 due to hunger strike against ARATS A qﬁqg & fa,—\q Nl o T 19 Gﬁ %
injustice in Jail? ‘ | - 1942 &Y :
W rmarsl O s S
(C) Bal Mukund Bissa (D) gartmhod Das . - © T e - (D) -\rmmg—q-\qq@—.ﬁ
attani
7- Planning Commission has been replaced by 7. A &Y, 3T MY W W Q) W
which of the given Institution? 4 R uforenfia faman T oY .
(A) National Development Council . (A) Iy faer qﬁ‘ﬁﬁ s E
(B) NITI Aayog B) S smar
(¢) Finance Commission of India ~ * - (©) wRa &1 g amanT
(D) |nvestmen.t CommiSSion of India " (D) HRT &7 ﬁ%fﬂ GﬂT!fPT
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. about a compromise between
cague and Congress, in 19167
spal Krishna (B) Bal Gangadhar
Gokhale Tilak
) Surendranath (D) Annie Besant
Banerjee
’~ When was the Revenue Board established in
RajastHan?
(A) 1949 (B) 1955
(C) 1947 (D) 1951
10. From which tree ‘Katha’ is extracted in
Rajasthan? A :
(A) Palas (B) Khair
(C) Khejri (D) Dhok
11. As per Census 2011, which state of India has
the highest sex ratio? '
(A) Chhattisgarh (B) Tamil Nadu
(C) Andhra Pradesh (D) Kerala
12. Who among the following was honoured with
the Nari Shakti Puraskar on International
Women'’s Day 20227 ]
(A) Batool Begam (B) vasundhara Raje
(C) Mamta Chouhan (D) Usha Sharma
13. Labour Bureau, Shimla releases Industrial
Labour Consumer Price Index’ (Base year-
2016) for ‘which centers-in Rajasthan from
September-20207? ) :
(A) Jaipur, Jodhpur,  (B) Alwar, Bhilwara,
Bikaner Jaipur
(C) Alwar, Ajmer, (D) Ajmer, Jaipur,
Jaipur Bhilwara
14. Ratanada airport provides services to -
(A) Jodhpur -, (B) Bikaner
(C) Kota (D) udaipur
15. In which of the following tribes, the marriages
named Tanna and Mor Bandhiya are
prevalent?
(A) Meena - (B) Sansi
(C) Bhil . (D) Garasia _
16. At which level of Pap}:havati Raj a “Sathin” is
selected as an ‘Honorary Woman Worker’ for
women development programmes?
(A) Pan¢hayat — Samiti (B) Gram — Panchayat
(C) Block level " (D) Zila - Parishad
131C .
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10.

11.

- 12,

13.

14.

15.

"~ 16.

() YRRy

1916 3, ﬁﬁ?"qaﬁ“?’ﬁ‘mz?mwm\m
R aperel o0

(A) Tiarer T TS (B) et TR e
(C) =l AT (D) Ty ¥

¢
(g;a‘) 1949 (B) 1955
(€) 1947 () 1951

wmﬁﬁ,-aqﬂé“ﬁw‘ﬁmmmf
27

(B) ¥R
(A) eI
(©) T (D) NP
wwzolla?ﬂﬂ'g?ma}ﬁ’_ﬂm.
a1 e GaEd €
(A) BEETE (B) TfAerrg
(C) iy yad (D) B

w@aqﬁmmﬂ—zozzwww
Wﬁﬁﬂ%@ﬁﬁﬁ,ﬁo—émm :
T 77

(A) gqet 9T -
(C) wwaT ABH _
s o), Rmen, RideR—2020 9 e @
Tod GADI® (AR TH—2016) TR HRAT &7

(A) SEAQR, TR, (B) 3rerar, Hierarsy,

(©) 3reeR, 3R, (D) TR, SR,
SRR WrerarsT '

(R) ShegR Y (B) framR

(C) Prer 1 (D) ITAR B

qoET Ud AR §feRr faae, o 8 Q) fad
ST | vafera €7

(A) Hory (B) ey - o
(©) e - EE

(D) "RIf¥T

A I B P WR R T | @
HRe BRiwat & wu F AT oy 27 '
(B) am—darag

©) =it = () RreT—qRyg

. g - %
ETTNE



17.

18.

19.

20.

21.

22,

- 23.

¢ 24,

25.

- (C) Kota

- (C) Hadoti Plateau

Which of the foillov'ving Indus Valley Ci\'/ilizatif)n
site is included in UNESCO world Heritage list

in July 20227 .
(A) Kalibanga (B) Dholavira

(C) Mohenjo-Daro- (D) Balathal
Malaj Khand is associated with which mineral

production?
(A) Iron Ore (B) Copper

(C) Diamond (D) Lignite

Which type of forests are found in western
slopes of the Western Ghat?

(A) Monsoon (B) Tropical Evergreen

(C) Savanna (D) Alpine

What. is not correct with respect to

GSTIN?

“(A) It is a 16 digit and letter code.

(B) Its First 2 digits are the state code.
(C) Itis 15 digit and letter code.

(D) It contains the PAN Card number of the .

individual or business.

On which river is the Salal Project located?
(A) Vyas (B) Chenab

(C) Jhelum (D) Ravi

The major producing region of soybean in
Rajasthan is - ‘
(A) Semi-Arid (B) Eastern Plains

(D) Mahi Basin

An objective of the National Food Security

Mission is to increase the production of.

certain crops, which are -
(A) rice, wheat and pulses
(B) rice, wheat, pulses,

vegetables :
(C) rice, wheat, pulses and oil seeds
(D) rice and wheat

Which among the following is related to Lord

Curzon?
B

oil seeds and

(A) Partition of Bengal in 1905

(B) Government of India Act, 1909
(C) Universities Act, 1920

(D) Indian Council Act, 1892

‘Where is Lok Kala Mandir locateq?

(A) Ajmer (B) Jodhpy

(D) Udaipyr

131C
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23,

18.

19.

20.

, 22,

24.

R BTt TR & oy et oy

§ e 3 e T JeTlg 2022
¥ e Fae e 3 e ooy
(A) BTl (B) eNerrdiey
(C)Hﬁ?\?ﬁ‘q’g‘[ (D) qTeTreT

ATl G

i .%@ﬁmmaw@,ﬁ
(A) A8 3wm (B) qiqr

(© ¥ (D) firrge
aReHl B & oRedr g

g U1Y ST §? mea}
(A) ATRLH (B) Swrpfay -

(C) Har (D) 3eqTe

gzr.w.éﬁ.mmwz%mﬁwwﬁaﬁ

(A) & TH 16 3% TT 3R] 6T Fre |

(B) %7 M 2 3% X7 BT B B &

(C) TE TP 15 35 T seRl o7 dle &

(D) 39% @fdd 1 A & U P THR
[HIRT 81 £ | L

FeTTer URAGT b 7 W Rerg #7

(A) @ . (B) R

(C) Srem o :
REACIE A GG R S S L
T - . 3 f;
(A) arg - (B) gt Ha -
'(C)g@-;ﬁqarq S (D) A AR

T @ e R @ Uh s%wagv
bl @ oared A gfg PN E, T E -
(A) =7eer, 8 3R et "

(B) wrrer, 13, a1, foreret SiX et

(C) =ae, T, Tl IR fereTe

(D) et aiR TE L

I %ﬁaﬁ@ﬁ’ﬁ@‘mﬁmﬁﬁﬁ?
(A) 1905 T Tl P1 faHTaT

(C) frsafened aiffAgd, 1920 -

' (D) ey Rt IR, 1892

25.

S o AfeeR @ I €7
(A) 3R . {B) =gy
' (D) SR

(C) pireT
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26. Who among the following Was not elected in 26. ﬁmr%ﬁaﬁ ki Eﬁh RIS A X g
Rajya Sabha elections 2022 in Rajasthan? 2022 H foraifed el BT ofr?
(A) sh. Mukul (B) sh. Ghanshyam (A) 5t gt AP (B) it T e

Balkrishna Wasnik Tiwari araf® '
(C) sh. pramod kumar (D) Sh, Subhash (€) 5 T BAR (D) ) GTY T
Chandra :

27. In wHich year ‘Chief Minister Raj Neer Scheme’ . 21. NERSU § gEEl AR RISEURCEICE
was declared in Rajasthan? o ¥ wifr B TP -
(A) 2019 (8) 2015 (A) 2019 (B) 2015
(C) 2020 (D) 2021 (C) 2020 (D) 2021

26. Which are the highest population districts of 28 2011 P STV & SRR, ORI
Rajasthan, according to Census - 2011 "H'rma?ﬁ GFRT@TT qa R g -
(Descending order)? (3raRTEr H)
(A) Alwar-Jaipur-Nagaur-Jodhpur (A) W—W—Wﬁ'\’—?ﬂ\rﬂg’i’
(B) Jaipur-Jodhpur-Nagaur-Alwar (B) TTOYR—SIEIgR—ATIR—3TeTaR EE
(C) Jodhpur-Jaipur-Alwar-Nagaur (C) TqR—STIR—IATR—A R |
(D) Jaipur-Jodhpur-Alwar-Nagaur ‘ (D) mgq.—\—rhug‘\’— ATR—TR

29.  Which of the following cities will host the 2025 29. 2025 favg voifed dfaRra @ AoTEE
World Athletics Championships? 7 & | P AT IR AT
(A) Tokyo (B) Budapest (A) <y (B) gemRe
(C) shanghai (D) Paris (C) weng (D) IR

30. High Court of Rajasthan was inaugurated by 30 YoM $od =AMTerd &7 IEHTET XIS
Rajpramukh Sawai Mansinghon -~ ! IS AARTE ETRT.c H foar
(A) January 28t, 1952 (B) Augusf 29t 1949 e i o "

" ' ' (A) 28 S77a¥1, 1952 (B) 29 3T=d, 1949

(C) March 27t, 1951 (D) January 28t 1950 ; (C) 27914 1951 (D) 28 S=aRY, 1950

31. In Rajasthan, where is the first Tribal Child 31 TSR &Y Yge WA 9TeT@ ST Arpre)
Hockey Academy established? HEl RIfUg B 7 87
(A) Udaipur (B) Bhilwara (A) ST ¥ (B) sfrerarer
(C) Kota ‘ (D) Dungarpur (C) ®reT ¥ (D) YRYR H

32. Who among the following leader was in the 32 RAOR I B WaFar ASeT o ﬁz:{ i
Independence Movement in Bharatpur state? B9 TF - A? :
(A) Tikaram Paliwal - (B) Kishan-Lal Joshi (A) SSRM ureliarad (B) 59 o Gﬁ?ﬁ
(C) Mangal Singh (D) Shobha Ram (C) HaRig gt (D) =T v1M ”

Sharma -, _ : \

33. Which song of ‘goddess was sung by the 3. FIHe FlY T QEr A e TSt @ W

‘Kanfate Jogi’ with Damru and Sarang;? &g 2§ & Mg Ty &
~ (A) NagnechiMata  (B) Sheetala Mata (A) 9o AT (B) sfiqer HT?IT _
(C) sakrai Mata - (D) Jeén Mata - (C) WTII AT (D) o7 w7y
BIC Pacho'f24



34, Which one of the following (Folk drama -
Place) is not matched correctly? |
(A) Nautanki — Bharatpur, Dholpur
(B) Rammat — Bikaner, Jaisalmer
(C) Turra Kalangi—
(D) Tamasha —Jaipur
Angotia,

Marwar

35. Ognia, Surliya ornaments ar
worn -

(A) on wrist
(C) on head

- 36. The first UDAY (Utkrlsht Double Decker Air-x~
Conditioned  Yatri)
between -

(B) on feet

- (D) in ears

302687’1

131

Express train run
(A) visakhapatnam and Vuayawada
(B) Bengaluru and Coimbatore
(C) Chennai and Visakhapatnam
(D) Delhi and Kalka
37. Who has built the Shiv Temple of Badol
(Kota)?
(A) Mihirkula
(C) Bhoj Parmar
"“Illa na deni, aapni, halriya hulraaye.
Poot sikhave palne, maran badai maaye.”
The above lines are taken from which book?
(A) Prithviraj Raso- ° (B) Vansh Bhaskar
(C) Kanhad-de- (D) Veer Satsai
Prabandh ‘

39. There are a total of 75 Ramsar sites in India by__

[z

1313026871

(B) Bhoj Pratihar

- (D) Toramana
38.

1313026871

August 2022, which state has the maximum >

number of Ramsar sites?
(B) Himachal Pradesh 8
(D) Madhya Pradesh ~—

(ap)

(A) Tamil Nadu

(C) Uttar Pradesh
40. The Ministry of Youth Affairs and Sportsv

announced the Major Dhyan Chand Khel

Ratna Award for the year 2022 to ‘Achanta
Sharath Kamal’, he is related to which sports?

268

.34.f3‘|17-|ﬁ.‘fﬁ§ﬁﬁ—\,§r?ﬁqm(m

+ 35.

36.

37.

38.

- 39.

40.

T - =)

gAferT TE 87

(A) qcH — H'\’a'g-\r sﬁ'(:fgq
(B) XM — fiHTR, SRTerR
(C) qRT el — ARarg

(D) TR — SRIqR
gmﬁm,@mﬁngy%m;aHWT%ﬁaﬁ
(A) BeTTg T (B) i} #

©) fR ®W (D) HHI #

YoM S5 (STPE $a¢ SR AR ATH)

'Wiﬁwaﬁaaaﬁrﬁ? '

(A) faemEmuzTH QiR fasraareT
(B) SIS 3R FIIaR

(C) ==ig 3R faemamyzTH
(D) fecelt 3R BT

mﬁﬁ(ﬁa)%f%x#%vmrﬁﬁnﬁmﬁ
BHATYT?

(A) fAfege (B) W1 UfER

(€) 9 AR (D) FRHTT
"gel 7 i, ool BTIRAT ol |

g RErd gre, RO 9913 A Il

Eﬂﬁﬂﬁmﬁmu‘mﬁ?ﬁﬂéé?
(A) gedRTST 1T (B)ETETW
(€) Fress wew (D)‘cﬁwa—\q—g

,Wzozgwwﬁmﬁwwé

T W wdifte TR e fhe won @
&2

(A)ﬁﬁi?ﬁzg .(B)%Hra?-ruésr

(€) SR g (D) 7ew gyl

a1 ATt 3R Wl HATT 7 a¥ 2022 HT o
STES Wel X1 [RPR ST IRT HHeT oy
< Bl HIOT BT, TR e e @y
27

(A) Table tennis (B) Lawn tennis (A) <qe1 2frg (B) &9 2fy
" (©) Chess (D) Badminton (©) JRer - (D) dsfien
Page 6 of 24
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*1. Human Poverty Index (HPI) measures the 41. W.’m—eﬁ ﬁaai_ia; (Tadrans) @a @ wH
deprivation as a composite index of - & U H A R —

(A) longevity, knowledge and standard of (A) drafg, S AR g =R
living | Srgfg, T 3R
. (B) longevity, nutrition and knowledge Gl ' b
(C) longevity, standard of living and sanitation () drafg, SN TR AR wesd
ing (D) 5T, AT SToRd iR Sia wR

42. \Which river basin of Rajasthan is in second 42. G IUAEdl P JUR W B G T4 IR

13026871

_—
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o
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o
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o
)
=

position in terms of water availability? K Jrorer # e I w22
(A) Banas Basin (B) Sabarmati Basin €9 (A) g afRTA (B) graxHT 4R
(C) Mahi Basin (D) Luni Basin Q ok (D) oAt 9

43. Who among the following is not a master of% 43. =i @ P S M F Rrgewd T &7
Maand singing? | .C"f—') (A) TG 98 (B) areatre RfaTg 918
(A) Gavari Bai (B) Allah Jilai Bai ~— (©) a=i T (D) W

(C) Banno Begam (D) Gulabo

44. \Which of the following statement is not true? <— 44 ﬁﬂﬁ;rﬁ'gﬁ F P BUT I 87
(A) All the Ministers of Rajasthan are Cabmet'\ (A) ORI @ T FAl B w3 €|

Ministers. O (B) YroRei § FRHA AR 30 HA 8 WH -
(B) Rajasthan can have 30 Ministers includingg $
the. hlefMlm.ster oM (©) e : R a9 E
(C) Cabinet have important departments. ;‘) b , 3 ¥ wE @ )
(D) pPresently there is no Deputy Minister in <= (@) = ‘” i ERER H A ST
6| the Government of Rajasthan. T
45. Fiscal Policy in India is formulated by- — 45 Ra H was‘w‘im A fras §T\’T TR B
" (A) The Finance Ministry B ' STl 87 :
" (B) The Planning ‘Commission o) (A) fasT #3Terd 5 e
(C) The Reserve Bank of India & (B T B
T evReser\{(‘a_ ank o { & (©) R ﬁ'ﬂ’cfi\l‘cﬁ _

(D) The Secur'itiés and Exchange Board OfI“diac";") (D) YR ufeRyfar SIREIRERIEIS
46. \What is the sectoral contribution of the Gross¥— 46- ¥ 2021-22 F JroraE # ST &3 &1 R

State Value added by the industry sector in (2011-12) Eﬁﬂ?ﬁ R GFd G T 5
Rajasthan at the basic constant (2011-12)

prices in the year 2021-22? &7
(A) 26.34% - . (B)24.80% (A) 26.34% (B) 24.80%
(C) 2815% ... (D)32.20% (C) 28.15% (D) 32.20%

“47. Which writer na-r‘ned the books after tf\e name 47. fg TUBR .f{ A TRl d1 M fFTR
of Bikaner Maharaja Anoop Singh? VRIS 3" 48 & H W X oT? |
(A) Lochan - (B ;233\’ Narayan (A) S ~ (B) ggg ARTAV <@

' c fge (D)
(C) Pundrik Vitthal (D) Bhav Bhatta () grsR® g -

131C ' Page 7 of 24



48.

A0 rAhich of
. Whichort

51.

52,

~ (A) Akbar

HPCL Rajasthan Refinery Ltd. nsaJ°'nt penture .

between Hindustan Petroleum ‘Corporation

Limited (HPCL) and govgmment of Rajasthan

with an equity particif >at|ons of -

(A) 74% and 26% /(B) 68% and 32%
respf’ctivelv £ respectively

() 72% and 28% JER(D) 56% and 44%
respectively S8 respectively

followmg pair (Political Activist —

Related  Princely  state) “is  not correctly

\1ithalal Vyas — Jaisalmer
»p_dbendranath Trivedi — Kota
Kishanlal Joshi — Bharatpur
D) Pandit Harinarayan Sharma — Alwar
Match the following — .
Birth place

Folk Deity
_ (1) Gogaji (i) Santhu
(2) Pabuiji (i) Dadreva E
- (3) Hadbuji (iii) Kohu -
(4) Fattaji " (iv) Bhundol
Code - 2

(A) 1-ii, 2-iii! 3-iv, 4-i  (B) 1-i, 2-ii, 3-iii, 4-iv
(C) 1-iv, 2-ii, 3-iii, 4-i (D) 2-iii, 2-i, 3-ii, 4-iv
The author of ‘Beli Krishan Rukmani Ri’, was
the court poet of which ruler?

(B) Maharana Kumbha

(C) Shah Jahan - (D) Vigraharaja IV

Two statements are given below, one labelled

as Assertion (A) and the other as Reason (R) —

Assertion (A) : Dadabhai Naoroji founded East
. India Association in London.

Reason (R) : He wanted to influence the British
‘ Public Opinion.

In the context of the above two statements,

which one of the following is correct?

(A) Both (A) and (R) are true but (R) is not the

- correct explanation of (A)
(B) Both (A) and (R) are true and (R) is correct
explanation of (A)
(C) (R) i Is true but (A) is false
(D) (A) is true but (R) is false

131C

48

49.

50.

51.

52.

Qﬂtﬁ?{ﬁ‘{ﬁ e Roe fafes,
Regrad Ao pOreE  fafacs
(@tﬁqﬁm)@mmwiﬁqu
el Amfier) o1 Agw 9o &7

- (A) THEI: 74% TG 26% (B) ¥R 68% Td 32%

(C) T 72% TG 28% (D) T 56% Ud 44%

PR ¥ W wE @ g (R
rfpal — dfa Ramd 199) W%"'
37

(A)Wm—aﬂaﬁ?

(B) +isrer 33y — et

(C) fopgrramrad SRl — ¥RAYR ;

(D) tfed eRARM™Y A — AR

FHferd HITY —
drd agdm

()Tt~ () ¥R

(Z)WI)W

OESES ~jii) PIE,

(4)t5ﬁ1rrﬁ MESE

a;a‘ i

(A) 1-ii, 2-iii, 3-iv, 4-i  (B) 1-i, 2-ii, 3-iii, 4-iv

(C) 1-iv, 2-ii, 3-iii, 41 (D) 1-iii, 2-i, 3-ii, 4-iv

‘Il fobe Spaol ' & =, f&E s

D TRANY B A?

(A) sTFaR (B) HERIT &=

(C) wmeTer (D) fawrexrot =rgel

I &1 Fo Ry MY €, U @Y e (A)

3R TR B BRI (R) HET T & —

IfHeA (A): TRME ARSH 3 oeT # de
AT TAIfgeE &Y XemuET @6 |

S R

BRUT (R): aaf%r%wmaaﬁmﬁram

TEd o -

. SWE A wer B Gt ¥, P 4 @

DITAT T &I &7
(A) A} (A) 3R (R) W € QA (R), (A) BT

. (B) T (A) 3R (R) Ty %* 3R (R), (A) P G

YRT HCT B

(O) (R) g & ofh (A) gy @

(D) (A) ¥ & ifd (R) 39T &
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53. As per Koppen's climate classification, which

type of climate is found in Dungarpur and

Banswara district?

(A) Aw (B) Cwg
(C) BWhw (D) BShw

54. Which (Mineral — Mining Area) is not correctly
matched?

(A) Dolomite - Bajla-Kabra
' (B) Lead & Zinc - Rampura-Agucha
_ (©) Fluorite - Mando-Ki-Pal
(D) Rock phosphate - Barodia
55. Vedanthangal Bird Sanctuary is situated at -
(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Andhra Pradesh
56. Which (Cattle fair and District) is not correctly
matched?
(A) Gogamedi Cattle Fair - Hanumangarh
(B) Shivratri Cattle Fair — Sawai Madhopur
(C) chandrabhaga Cattle Fair — Jhalawar ‘
(D) Ramdev Cattle Fair — Nagaur
57. |n January 2022, Central Government’s ‘PM
_WANI Yojana’ started in which district of

| Rajasthan? ;
(A) pratapgarh (B) Jodhpur
(C) Sikar (D) Jaipur

58. Where in Rajasthan oil refinery is. being

established? ,
(A) Barmer (B) Bikaner

(C) Jaisalmer (D) Jalore
59. Which of the following statement is not true?
(A) Ramsay MacDonald called the Collector as

the Institutional Charisma.
(B) In district, the District Collector functlons

as Chief Protocol Officer.
(C) The post of District Collector was created
by Warren Hastings in 1772.
(D) In Article 233 of the Indian Constitution,
the word ’Dlstnct Judge!  has
‘ mentioned. ® '
60. As on August 2022, how many declared
wetlands are there in India?
(A) 41 r, (B) 48
(C) 72 (D) 75

been

53. P @ Srerarg DRI B :
gmmmﬁwhﬁﬁmww iﬁ?—ﬁ
5 rerarg
(A) Aw (B) Cwg
(C) BWhw (D) BShw
54-?? w  (@fe-ET gm) gafed Sl
;
(A) SreHTEe — AITCAT—HTERT ,
(B)Wsﬁ?aﬂ HYRI—3FT
(C) TeiRTge — AlS—dI-Ure
(D) Xfp pRBe — SIS
55. qgreriTer Uell ARV Rerd § —
(A) Bt 3 (B) Aftyererg
(C) PAfed | (D) arier g #
56. ?ﬂ—w(ugﬁwsﬁvm ﬂé’tgﬁﬁw:{%’r
-
(A) TS TYAT — TG
' (B) Rraxify THET — WATS ABIYR
(C) === UYHT — HATArS
(D) TP TR — AR

J:x

57. Sad) 2022 @, P WRGR @l GLUA. aoll
mema%ﬁmﬁﬁﬁﬁm
EIE2 104
(A) FaTTTE (B) TR

- (C) ¥R (D) SrIgR

58. ol ¥ aifae RGIIAA B AT Hel DI
ST &N 87 - ;

(A) TR (B) GHTR
(C) TR (D) SR

59-?@7%@31#@%@%%%@

?

(B) frar #, ftem woldex XA tﬂaﬁm
AR BT B Fal B -

(C) ¥ 1772 #, divA eRE™ g1 freT detgey
BT Ug et fbar |

(D) ¥RT & wfaeH & argeds 233 # e
ey v BT Soord fbar T B

60. o 2022 31 Rerfdy & SFFWR, WRA # fbardl

N ams sfat €7

(A) 41

©) 72

(B) 48
() 75

131¢c X1

Page 90f 24



61.

which of the following pair. is not correctly 4

matChEd? =

(A) 243 R - Mention of the composition of
Municipal Corporations

(B) 243 ZC - Composition of District Planning

Committee

(C) 243 S ~ Constitution and composition of
Wards Committees

(D) 243 ZE — Composition of. Metropolitan

Planning Committee

61.

. (©) g ()

62. with reference to Indian Economy, consider 62

the following — )

(i) Public debt "

(ii) Public revenue &

(iii) Open market operations

(iv) Bank rate :

Which of ‘the above is/are component/s of

Monetary Policy? . o |

(A) (iiiyand (iv) ~ ~ (B) (i), (ii) and (i) _

(©) (i) Only (D) (ii) Only |
63. What is the name of the cremation site of - 63.

Mewar royal family?- s ‘

(A) Mahasatya (B) Kaga

(C) Gatore (D) Bada Bagh
64. When did Maharana Pratap make Chavand his 64.

capital? '

(A) 1576 . (B) 1582

(C) 1585 (D) 1580 |
'65. Which of the following statement is incorrect?  65.
"~ (A) PESA Act is applied to 9 states of Schedule

5. ' i :

" (B) The PESA Act was enacted on the
recommendation -of Dileep Singh Bhuria
Committee. .

(€) Panchayat (Extension to Schedule Area)
~ (PESA) Act was implemented on. 24t
December 1996. ,
(D) One of the objectives of the Act is to
Protect and conserve the traditions and
; Customs of tribal communities, ,
66. Giral lignite thermal power project is located = . 66.
in which village? _ '
(A) Ramsar (Ajmer)  (B) Sivana (Jalore)
(C) Samdari (Barmer). (D) Thumbli village
_ (Barmer) ‘
131C
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PR & Pren 7 G o 20

(A) 243 R — qir Tiferamail B W= By
SRS .

(B) 243 7¢ - frar drorm WA &7 1o

(©) 2435 — 91 wfferal @1 o7 T ey

(D) 243zs;qgm?mamﬂﬁf%f_mnaq'

URAR Seferaeen & w@ed A, e W few
DIRTG — '

(i) ATdSTf=S ot

(i) GTdAE o

(iii) Gl TR BT g

(iv) 9% <% - :
gﬂaﬁﬁﬁaﬁam/ﬁﬁ@m%%m
/7

(A) (iii) 3R (iv) (B) (i), (ii) 37 (iii)

.(B) &1
() TR WESE
FERIVT YA = =19 &1 17+ o= oy
9T or? - . o
(A) 1576 (B) 1582
(C) 1585 (D) 1580
fFriifesa & @ S wue s 27

(R) ST (PESA) ST, a1 - 5 3 9 <oy
dar e L '
(B) 4 (PESA) i, fiehy Rig Rar

AR B LT W T Ty
(©) Temya argefer &l ¥ v @y PESA)
SR 24 R, 1996 B oy gar |
D) 5w, affem &1 o Ry sk
GRETT U WRET0T AT R |
ﬁ'\’ammﬂﬁﬁqﬁaﬁmmmﬂﬁ

Rerg 22

(A) IR (TR) ® Ryaron (Gfl?iﬁ)
(©) et @) (D) opreh i (@)




T T T L R

67. Which of the following statement is not true
about ‘Kalibangan Civilization’?
(A) camel bones have been discovered at

Kalibangan.
(B) Luigi Pio Tessitori, an Italian Indologist
found the Kalibangan site.
(C) Kalibangan has provided evidence of the
first recorded earthquake.
(D) pre Harappan fire altars have been
discovered.
68. Which is the rank of India in the recently
released Global Hunger Index 2022?
(A) 107t . (B) 110t
(C) 102 (D) 109t
69. Under whose leadership, thousands of women
participated in the conference held at
Katrathal on 25" April, 1934?
(A) Rama Devi (B) Durga Devi
(C) uttama Devi (D) Kishori Devi
70. Gopal Saini is related to which handicraft of

Rajasthan? _
(A) Terracotta ~ (B) Wood Art

(C) Theva Art (D) Blue Pottery
1. In which.of these countries is the G-20 summit
proposed for the year 2023?
(A) China ~ (B) Vietnam ~
~ (C) India (D) Indonesia

72. Consider the following statements regarding
the Goods and Services Tax Network (GSTN) —
(i) It is a non-government, private limited

company.
(i) It is a not for. profit company
Select the correct.answer using the code given
below -
(A) Neither (i) nor. (u) (B) (i)only
| (C) Both (i) and (i) (D) (ii) only

73. Who was the RuleF of Bikaner who supported
the British through his army for suppressing
Revolt of 18577
(A) Sardar Singh

. (€) Ganga Singh

(B) Ratan Singh
(D) Dungar Singh

67. fy=fRag & 9 DI A HUF ‘Hrena ™ T,

@ fawg § & 7 87

(A) HrfaTT ¥ e Dl BfE & weg A 2

(B) Hreflam @1 WISl UH FaTerd! gSIciiione
e ot 2RER A 3 o

(C) Fred & wer S fby g gHT B
e e 2

(D) w1 g AT B ey et ¥

- 68 AT oI AfRTE [ Fabih 2022#%

BT PrAT LI TEI7

(A) 1074t (B) 1104t
(C) 1024t (D) 1094t

69. ford YqgeT ¥, 25 3c, 1934, BT FeIA |
smafera fawret Afgen F9eE § Rl Hf%?nsﬁ
F mr forar?
(A) 71 <@ “(8) gt 2
(C) ST 2dr (D) ferardy 2

70. mwmmmaﬁﬁmm'
Jq .

(A) STPIET (B) PTG el
(C) a1 &l (D) &g uic

T qf 2023 T W20 RRR wEeE e § 9
e <o # wafag @7 o
(A) == ' (B) faga=m
(C) wRat (D) 3TERIRE

72 7 R [T HR Aedd (NTadeE) & ddy

H ffeRag FoMi W™ faaR & —.
(i) I8 TP IR TN, ms%xaﬁvrﬁéeam'«ﬁ%\
(i) T& T IR o™ FIN 2 |

%ﬁ?@aﬁmmwvﬁw‘

gr — _ .
WA ) E I
(©) =t )3k (i) (D) Baa (i)

73 1857 % Fify B A B forg, EER B fba
Wﬁmﬁﬁmwmﬂ?ﬁ?
(A) TR Rig (B) o g
(©) T Rig () g i
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74.

76.

77.

78.

79.

80.

81.

82.

131C

. (C) Rajasthan
75.

Which state of India has highest potentiality of
wind energy?

(A) Gujarat (B) Karnataka

(D) Tamil Naduy

Who aragng the following was the author of
the booRfaisalmer ka Gundaraj’?

(A) Mar@/a Lal Verma (B) Sagarmal Gopa

(C) HirgShastri (D) Jai Narayan Vyas

Who is famoqs with the name of Narsingh in
Rajasthan?

(A) Kav'kllurlabhji (B) Sant Ramcharanji
(C) San@jjabji (D) sant Charandas ji

Accordi&to Col. Tod, Meena’s originally
belong hich of these places?
(A) Kali®Rati
Moﬁain ranges
(C) AbuwTountain (D) Kali Khoh
~ranges Mountain ranges
In which-part of Rajasthan the ‘Entisols’ soil is

found? ' .
(A) Soutlgern (B) South Eastern

(C) We@n (D) Eastern

Who affdng the following is not in the
Selectioh~Committee of the Chairman and °

membexsof the Rajasthan State Human Rights

(B) Mukundara Hills

Commission? .
(A) Home Minister  (B) Leader of the
o« Opposition

(C) Govigpor (D) Chief Minister

The cﬁtruction of Bisalpur Dam was

. . 2
complegeg in which year: -
(A) 19967 (B) 1996 EE _
(©) 1999 (D) 1989

Which &F the following region of Rajputana

was ruled by the Varik dynasty? |
(A) Alwar ' (B) Bayana

(C) Badnaur (D) /j'\jmer

Which country got the maximum export from
?

India in the year 2021-22:

() Usa (B) UAE

() China (D) Brazil

74.

75.

76

77.

78.

IRA B fog g # U et oy
e fdemm 27

(A) ORI (B) Ftes
(C) RToTReIT (D) eifterrg
TR BT TSRIST JR0S B ode fm
HI o7

(A) F1forFRTeTe T4t (B)Warﬁm'
- (C) ERTeTA T (D) SRV a7y
. IR # AT B A F.ufig § -
(A) Bfa gt -~ (B) W RO
(C) wd ¥ou1g it (D) Ha =RUIGTA
=1 4 9 39 1 o
(A) Prefl BTET T (B) Aot vt #iofy
(C) 3g wdaHrar . (D) BTl @ daarer
IR | '
(A) <farofy . (B) feyor gt
(C) uf¥=shy (D) gdf-

79.

80.

8.

RIGTRAA IS AR RN & fegel gd
wewdl B ogu Wi A PrefaRes § @
A F&f grar 87 :

~(A) T8 W " (B) fauer &1 war
(C) xr>gura (D) ===
deerqr dfy &1 fE e af § qof
- garr? |
(A) 1999 (B) 1996
(C) 1992 (D). 1989
fer=rferRad # A IOqamT & fhy & ) WP
g9 3 orae fdar on? -
(A) 3rcTaR (B) 93111 |
(C) 9e+RR (D) 3T

82.

fr=ifera # & 69 T 9 g9 2021-22 & ARG
 waife ol fbe?

(A) ZTET
(C) 9

(B) 3 U g
- (D) grfiet
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83.

84.

85.

86.

88.

89.

90.

91.

Yojana
(C) Food in-Night - (D) Cojmmun(in/ (C) X7 oy # wioA (D) ?Trga'rﬁ‘ﬁﬁ ICEIR
Sheltor MarriaggScheme
Who wrote the book named ’Hamr@-lath'? 84. ‘gmiR go' AMG TA ﬁﬂﬁ forar?
(A) Chandrashekhar  (B) Keshavd (A) T5IRER (B) By
(C) Dalpat (D) Jodhraj ¢A (C) Teua (D) SRRTS
Akal Wood Fossil Park is located |ﬂ/h|ch of 85 3FHd FTS SHArH BETFT ot & @ e R
the following district? -~ # Rerg 87
(A) Jaisalmer (B) Rajsamand (A) SIEeTR - (B) oIS
(C) Bundi (D) Pali | (C) g (D) greft
National Bank for Agriculture gad Rural 86. Iy Py ofR UTHT faera ¥ (ﬂﬁl‘lé) L3
Development (NABARD) was establlthed on - WUAT g3 -
(A) 12 July, 1986 (B) 12 JulySEp82 (A) 12 eTiE, 1986 BT (B) 12 TeTTs, 1982
(C) 12t July, 1978 (D) 12t JulyC¥b92 (C) 12 FeTis, 1978 BT (D) 12 g, 1992 T
- Identify the Chairman of the Rajas%n State  87- [OIRM oY AMAINIGR AN & VA IAedel
Human Rights Commission, who alsgarved as B Bftg FIvT W Swdd e ®
the Judge of the Supreme Court of lagia? TN 9 R , ;
(A) Nagendra Kumar (B) Kanta Kumari : .
Jan% i Bhatnagar (A) = BAR S (B) i W = ”_ R
(C) Gopal Krishna Vyas (D) Saiyed Saghir- (C) Tt PwT & (D) ¥TE TR AET
Ahmad ;
From the following battles, choosethe correct 88. faforRag g@[ H Y STh S O P aN D
order from first to last according tg&the year | IER Ugel 3§ INRa dF Hel 9 DI ﬂﬁfl'
() hatle of Gagron S bl
a
(2) Battle of Sargangpur ™ (2) P E
(3) Battle of Bayana ;-*) (3) T &7 & ’
(4) Battle of Mavli « (4) Fell 1 R _
Choose the correct option - el famed ?’ﬁ - , '
(A) 2,1,3,4 ) (B) 2,4,3,1 (A) 2,1,3,4 (B) 2,4,3,1 -
€ 1,324 ' - (D)1,23,4 (€) 1,3,2,4 (D) 1,2,3,4
To which age does the artistic splendour of 89 TN T RNIRTG & HelHD ?NH fovg
Abhaneri and Rajoregarh belong? : Bl | ARG 87
_(A) Guhil - Sisodia (B) ChauharfQ - () TfEd - ﬁ@ﬁm (B) T
-(©) Gurjar - Pratihar (D) Rathorec('a (€) ok — gfeeR (D) RISI$
Which one of the following is Not gfuded in  90. forfafad § & Far AR SRfdaR W ?asfﬁt
'Itshe Agriculture and Allied Service Indian AR Hag Qo ¥ witafag T8 87
conomy? : .o . ~ .
(A) Food Processing  (B) Logging {trees) (8).T1E1 vy (B) wers (g F1)
(C) Forestry (D) Fishery (C) ariTan (D) Hee :
Saint Haridas was the founder Of .. of. W BREM......o S ARG RINED
sect. ' | '
(A) Ramsnehi (B) Niranjani (A) T (B) foRaT!
(C) A|akhiya (D) Nimbarka (C) arafiaay (D) FreTe
Page 13 of 24
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‘Utsav Bhoj Yojana’ in Rajasthan is related to —
(A) Indira Rasoi Yojna (B) Mid-day Meal

83.

RSN # ‘Iedd |1l AT e § —
(A) SRy v Ao (B) e et At




. 92 |n which of the following, the archaeological

- remains related to Buddhism are found?
(A) Naliyasar (B) Raidh (Tonk)

@ (Sambhary) "
‘.I (C) Bairath (Virat (D) Madhyamika
: Nagar) (Nagari)
93.

In Rajasthan the major districts of maize

¢ cultivation are -
(A) Banswara, paji and Sirohi _ E
“(B) Baran, Kota and Jhalawar
(©) Chittorgarh, Banswara and Bundi

+ (D) Barap, Jalore and Pratapgarh
i 94. Which one

of the following is the correct

4 descending order of the coffee producing
'~ states of India?

. (M) Karnataka > Kerala > Tamil Nadu > Andhra
- Pradesh
a8 Pradesh

(C) Andhra Pradesh > Tamil Nadu > Kerala >
Karnataka

" .. (D) Karnataka > Kerala > Andhra Pradesh >
I - Tamil Nadu

B 5. Assertion (A): Teak trees are mostiy found in

. southern part of Rajasthan.

_ A : " Reason (R): TheAteak'can bear extreme cold

il : ~ and frost. _

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the
‘correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the

correct explanation of (A)

%. Morley — Minto refdrn)s were aimed at —
(1) Promotion of eéducation
(2) Reserved seats in Provincial Assembly for
Dalits _
(3) Separate electorates for Muslims
(4) Increase in the number of members in
Legislative Council at Centre
Select the correct answer from the code glven
below - -
(A) 1,2and 3
(€) only 3

(B) 1,2,3and 4
(D) only 2

(B) Karnataka > Tamil Nadu > Kerala > Andhra

92 Preferiad 4 9, aﬁzaﬁ"*mﬁﬁ%
FaY Fet fire &7
(A) TR (@PR) - (B) X3 () |
(©) &ve (e TR) (D) ety (-

93. oI H wEE B WD B BEtcl ﬁﬂ%’
s
(A) FivaTeT, urel ol RRIE
(B) AT, PieT 3R serars
(©) frdtee, wivarer ok &

(D) IRi, Wik 3R sreTaTE

94qﬂaﬁaﬁqﬁa?q]aaswiﬂﬁqmﬂﬁ

¥ el Tl gaN B BT 27
. (A)m>m>'ﬂﬁm1§>3ﬁﬂm
(B) Beifes > Tfierrg > BRet > iy TR
(©) 31t 531 > verTg > et > e
(D)m>W>WW>HﬁW

95. HI (A): Wma%af@mﬁaﬁrﬁmfﬁ
' 981 e TR Sy R
$UT (R): Wmﬁaﬁmﬁawwaﬂ
, RIS SRR
- (A) (A) W& 2 A (R) TTora ‘
(B) (A)aﬁw(R)a‘Fhvé’r%w(R),(A)aﬁw
I E .
(C)(A)m%‘érﬁma)va% |
(D) (A)aﬁ?(R)a‘Fhvﬁ%ﬁa (R), (A) :al
e ARAT g R
9. At — ficY Ut @1 wivw o7 —
(1) R & g1 - .
(z)ggﬁ-qﬁwnﬁmzﬁmmﬂ
AT
(3) FHE & {10 arerT Frates Hea
(4)¢aﬁnﬁmuﬁwﬁwwmﬁ
TR

:ﬂaﬁqw mﬁ‘éﬂﬁw?ﬂm
IR —

(A)1,27d3 " (8)1,2,3744

(D) Baa1 2

131C
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E .
|
|
|

97. From which district of Rajasthan, the Heli-

Borne survey technique for ground water

management has been launched?

9. it wder @ f, Rl ey i d
mmﬂm‘r{fﬁﬁmfﬁéﬁmw

8

. ’ B .
(A) Jodhpur (B) Bharatpuyr (A) STEIgR ED; K
(©) Kota (P) Jaipur . ©@rT i
- 98- Who was appointed as the new Chief Minister 98 5 2022 PO¥ @ T e e g
it | T
of Tripura in May 2022? : foa .
(A) Eknath Shinde  (B) Biplab kumar Deb (A) garmrer R (B) faerg aos'”z.ea
_ (C) Dr. Manik Saha (D) N, Biren Singh (C) Si. =nforem HI%T (D) T, 4r7 Riz |
99. Who among the following ‘Padma Award - 99. 'q-c{q‘ng —2022'% mﬁﬁ Tl 1A
2022’ ,ecipient is relate(dB)to Rajasthan? 3 B W G =44
(A) Vandana Kataria Shakuntala _ .
| | Choudhary ) a7 FeiRar  (B) wrgren <y |
(C) Sheesh Ram (D).Ch'andraprakash . (©) ey < (D) Tgyeprer Ry
4 Dwivedi . e
100. Where will the khadi Plaza’ be constructed by 100. 3oreers gl U4 .‘Tl'“ﬁﬁfff IS gRT @
Rajasthan Khadi and Village Industries Board? ISl &1 f\ior wgf fargy GIIQ‘H_?
.- (A) Jaipur ~ (B) udaipur (A) SragR (B) SR
(€) Jodhpur (D) Bikaner ‘ _ (C) Shegr (D) iR
101. page fault occurs, when - 101. 19 %iee a9 By T, 9 —
(A) the page is present in memory (A) O J91) 3 ANE § ' E
(B) the page is not present in memory '(B) U ARy Hﬁqz BRI
(C) the buffering occurs (C) 95T By 2
(D) the deadlock occurs (D) Seeifep wrar A
102. Consider following statements, in context of  102. SIFgie ¥ 1 worr VTR SIE i forg.
MS-Word 2019'fkeys for moving around THTN. 78 — 2019 &) BT B e e
- documents — | Gkl L fq R B — ' -
4 ' |': END g9 3@{@3" ] [ q§?n°
|+ Pressing END takes you to the end of the _ W.Gﬂq ® o - )
e 5 f& wmy |
ocument, . .
It Pracs: ' _lI:PgDnWﬁ'WWWW%q@
 Pressing PgDn tal'<es vog down one screen, f'a?ﬂ T Y g B .
V1 Presig el + Home takes youtothe top PRI + B (Ctrl + Home) TR R amaay
of the document. SIREE 3 i 1z g T S g
Which of the apoye statements are true? - . ST ¥ Q) gy q B e &7 .
() Jang (B) I and Il (A) | o (B) 13T Il
© | ang (D) liand NI ©) 1, ey, (D) 113 111
31C
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3. Second  generation
developed during -
(A) 1970 to 1990

(C) 1649 to 1670

_computers

(B) 1959 to 1965

(D) 1965 to 1970

104. Which of the following statement is false?

(A) Trackball and Joystick are pointing devices
like mouse. '

(B) A digitizer is an output device.

(C) OCR  stands
Recognition.

for Optical

(D) You may find pre-printed MICR characters

_on bank cheques.

105. Which command will be used to display the

format cells dialog box in MS-Excel?
(A) Ctrl +2 (B) Ctrl+1
(C) Ctrl +F (D) Ctrl+D

106. Read the following two statements —,

|. Information and Communication Technology

(ICT) is considered as a subset of Information

~* Technology (IT).
l. The ‘right to use’ a piece of software is

termed as copyright.

" Which of the above mentioned statement(s)

is/are correct?
(A) Neither | nor Il

(€) 1 only
; 'What is fbrméd
| hydroxide with zinc?

(A) Zinc hydroxide and hydroxide gas

(B) Both'land Il
(D) | only

107 in the reaction of sodium

(B) Sodium Zincate and hydrogen gas
(C) Zinc hydroxide and sodium TR
(D) sodium Zincate and water

is related to which of the

were

Character

N

103. R v TN @ P8 TRE Ry
farar T o’ |
(A) 1970 %1990
(C) 1649 9 1670

'104.ﬁmﬁﬁﬁﬁwaﬁ@ﬁm§?
(@) St e SifaRed, SE B We.
dfgfeT gt €| o
(B) RfreseR T Irscye I &
©) aheeR, F1 AR, JHfEH
R & |
0w ¥ ¥ W M UEd [ B
.o AR, JER U A € |
105. MS-ExcelﬁAWm@mmm

(B) 1959 ¥ 1965
(D) 1965 ¥ 1970

PHFR

w3 @ forl fra FAie B SUANT FE?
(A) Ctrl+2 (B) Ctrl+1
(C) Ctrl +F (D) Ctrl+D.

106. Pr=forRad a1 ®UAl BT UG — :
| g iR AR Ut (gAML B
Wmﬁﬁm(@é.ﬁ)mwﬁzwm
2 '
I fr WioeRR & STEn § AReR 3
BHRIES FET Sl B | .
Sqfad # ¥ PN /W B W B /77
(A) 7 @ | 3R AT & 1 (B) | R 1 T
(D) &aet |
107-%%@@%@@@%@3&@&%
'\'#H’!JTEHHT%? 2wt NoeH—y ZoneHri s
(A) R EESAgS IR TEsiES T4
(B) BifsTm Ride IR BT 19
(C)mg@mm'm
(D) wifeTA e 3R =
108-@@%%@@31?%@7@@%

108. Apis florea
following? ' 87
(A) Silk warm (B) Termite (A) T BIC (B) &b
(C) Honey Bee (D) Lac insect (C) el (D) @ BIE
- mofﬁ o
B v,



) Q_d\?%; X ool B
e g=sg g
109. The resistance of a copper wire 200m long is ZOOT?TE'\’ T a9 @ IR BT URRY 21 Q 2|
21Q. If its thickness (diameter) is 0.44 mm, its e g A (@) 0-'44 AL R @ % e
specific resistance is around - faftre ufery smauma & — '5’:‘-"‘*_" o
(A) 18x108Q-m  (B) 1.4x10%Q-m (A) 1.8x102Qm  (B) 1.4x108Q-m “’:mué* ol
(© 12x1080-m () 1.6x108Q-m (©) 12x108Qm (@ 1.6x10%Q-m p\,e%:
0. is an example of physical change. N9 Wye gRads &1 & I & | Mu/-*i’
(A) Making of curd from mi'l.k (A) Tg A A Tl W, » ;;;
(B) Burning of candle ) (B) Hma< &7 STerAl .“%39\’“
(C) Blackening of silverware - . (©) =&Y & g+t &7 BT m\/v\é
(D) Dissolving of sugar in water (D) I BT g F g \V
111. Which one of the following is a viral disease in W ¥ ¥ PF A TP Y H aRRA
animals? ' T 87
(A) Johne’s disease  (B) Anthrax - (A) S AT (B) T=ie
(C) Blue tongue - (D) Milk fever
disease : (C) U T S () fil?r'ﬁ‘ R
: 112. Which of the given enzymes is 'reSponsib|e for 1125y @ g & forg fdu v gongEt § 9@
L " e digestion of milk protein? : D31 R 87 - |
(A) Erepsin ~ (B) Trypsin (A) e (B) fafoe A
.~ (C) pepsin . | (P) Rennin =~ . - (©) uftgH - O)FE |
; 113. Match List- with List-Il and select the correct ~ 113. -1 &1 F&A—11 & ﬂ'ﬁﬁ‘lﬁ DY 3R A oy
; answer by using the code given below - | L/'TI—Q Eiss Eil B‘trmﬂ BN FE IR gﬁ{q -
[ | List-1 a List - 1I S gl - g -
! ~ (a)Hydrogenbomb - (1) Fission (a) BIESIoT g¥ (1) faaves
E (b) Atom bomb _ (2) Fusion (b) WAL T - (2) HFRFT
! ~ (c) Binding energy (3) Critical mass (c) F& T St (3) wIfTd SeEwH
(d) Nuclear reactor (4) Mass defect g 2 (d) TRATY] Hed ' (4) gam &fd
Code - : = e — " . . v
W@~ e-a), (éi -BL =@ (A (@)= (2), (b)- (1), ()~ (3), (d) - (4)
®) @)= (2), b)- (1), (-, @=B) @ (@)= (b)~ (1), (c) - (4}, () - (3) -
© (@)=, (b)- 2), (c) - (4), () -3) . L © (@)-(1), (b)-(2), (O - (@), () -3) -
®) (@) - (1), (b)- (2), (¢) - (3), (d) - (4) () (a) - (1), (b) - (2), (c) - (3), (d) - (4)
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‘ 114. Choose the set of true statements from the
following -

. (1) Vinegar is an aqueous solution of 5% - 8%
" acetic acid.

(2) Hydrolysis of fat gives glycerd and
carboxylic acid.
(3) Teflon is used as solvent.

(4) The chemical formula of washing po-wder is

Ca0cCl,,
(A) 3,4 (B) 1, 4
© 1,2 (D) 2,3

115. What is the percentage of Photosynthetically
Active Radiation (PAR) that is captured by the

plants?
(A) 2-10% (B) 5-10%
(C) 2-15% (D) 2-5% -

116. |f ‘CEG’ is written as ‘TSR’ and ‘FHJ’ is written
as ‘QP0O’, then ‘IKM’ is written as -
(A) NOM (B) NOL
(C) MLN (D) NML

117. The next term of the following number series
is—.
2,12, 36, 80, 150, ey

(A) 210 (B) 258
(C) 270 (D) 252
‘1'18- Here, a statement is- followed by two

arguments | and Il are given. You have to
decide which of the argument/arguments

is/are a ‘strong’ ‘argument and which is a°

‘weak’ argument.
Statement : Should income tax be evaded by
people?
Arguments I. Yes, Taxes are-excessively high.
II. No, it will hamper the welfare
programmes.

- (A) if neither | nor Il is strong
(B) If only argument Il is strong
(C) If both | and Il are strong
(D) If only argument | is strong

131C
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Wﬂﬁmzﬁw%ﬂ%mw

(1) 5% - 8% wRife® 3t & Sielg feras &1
ReT ®ra €1 -

(2) o1 & T yEed ¥ forRia 3R
BEIfGeTd rFel U<t B @ |

(3) T &1 SuANT faemad & wu # A
SRR

(4) CaOCIzWWmWﬁmTﬁ%t

(A) 3,4 (B) 1,4

(C) 1,2 (D) 2,3

5. yTIRITSN <57 W Whea AR (TR P

1313026874 ;

3026871

I :
— P 210% (B) 5-10% J
B5 ©215% g8 (0)25% s

T S L8 ) rlc 15
afy ‘”'CEG'?I'TSR'QH ‘EH) B QPO” R

=3 ST R, KM Y e TR o SR

<= (A) NOM (B) NnOL
Q2 © M (D) NML

s ﬁwEﬁaaqw %gﬁtﬂ (B)+3q?fr1-% P
!\_ 2,12, 36,80, 150, . @€
o0 \ O RS .j_+ B @\*{-"
o (A) 210 ¢+'s=3k ~ (B) 258 Q.-\)

N .LL"}-L‘@

o () 270 (D) 252

M. wref, v wort & v @ @@ iR R
oL, et e &R ® 5 B/ B qd
W%Hmﬁwaﬁm%‘y
F maﬁﬁmwaﬁaaé‘m.
TR - .

qa ¢ L8 W IERE S Fl
n_qﬁ,ag‘.mﬂﬂﬁﬁﬁaﬂﬁ
‘ ml;el:ﬁ

S(A) ofe 7 AL A I ®

(B) afE Hael T 1| oI B

(C)aﬁaﬁq‘(lamqu\-d%

(D)uﬁzﬁﬂﬁﬂ*mm@%
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119. |f Sohan, while selling two goats at the same
price, makes a profit of 10% on one goat' and
suffers a loss of 10% on the other, then which
of the following is true?

(A) He makes a profit of 1%

(B) He suffers-aloss of 1%

(C) He makes no profit and no loss
(D) He suffers a loss of 2%

120. Two different positions of a die is shown

below. Which number will appear on the face
opposite to 5?

-
6 o0
O
3 AN
2 (an)
™M
| I "c:)'
(A (B) 6 4551
€ 2 (D) 3 :

121. |n a certain code language, “479” means “ Tuit
is sweet”, “248” means “very sweet voice” ind
“637” means “eat fruit daily”. Code for "lomoﬁ
equalto- 8
(A) 7 o (B) g o
©9 ) 6 o

31

122. | the income of x is 10% more than that f y
and the income of y is 20% less than that of z,

. N, o
then the income of x, y and z respectively gre
in the ratio -

- o0 .
(A) 22:18:25 (B 1097 =
(C) 22:20:25 -(D)11:10:8¢ : 8
123. Ymang said to Uma

“You are wife of the

grandson of my mother”. Who is Umanﬂ
Uma?

(A) Father

. (B) Husband
(C) Father-in-law

“(D) Grandfather

~
b
124. ‘A’ walks 10 m towards East and then 10

his right. Then every time turning to his leftthé
walks 5, 15 and 15 m respectively. How f%

M9 AR e o gERAl P T T W A,
T qBY W 10% BT A HACH § AR g

q—\rlo%aﬁgrﬁﬂf\’ﬂﬂ'f% ?ﬁﬁf‘:fﬁﬁm

no-l-"\ﬂ’_
T ®?
(A) 98 1% BT o™ HART & E.E"'
(B) I 1% @ T B B
(C) a8 9 Y o AT & 1 8 '
(D) S 2% = BA B

/ﬁ@ﬁaﬁﬁ?ﬁuﬁmﬁﬁ@éﬂé
%ls%ﬁqﬁammﬁ? mmﬁ@ré

ot o P 4 o 6

4 . 2

” " .

e -
(A) 1 (B) 6
e - (D) 3
121. v fAf¥aa @ Wt # “479" @1 e “fruit is
_—"sweet” &,“248” &1 e “very sweet voice” e

AR “637” BT e “eat fruit daily” 2 “is” Bl

B WA R — == gt
&) 7 ®) 4 w Sweegh
L bDeok

©) 9 (D)6

N22=AfX x ) g, y B A W 10% B ® Tl y
DY AT, 2 I 20% HH 2, a‘rxyaanz
B AAIRD MMT HAL: & — ﬁﬁ'f =2
-(A) 22:18:25 (B) 1097.,,

-»1.+A, o
3 \o
"(C) 22:20:25 (D) 11:10:8 \oy= \Q»L 2"?7

:%};r;waﬁw gqﬁﬁmm?ﬁdﬁa?r

1" SHT BT SHT W T AT B? 0 e
(A) foar (B) ufy

(O (D) <reT
124, pr 10 R T @ aiR werT & ek R 10

A o TR &R S ¥ ) R R AR s
Il SR FSHR, T HH: 5, 15 AR 15 WX

& BIN

"z

1

ol i ~— vaafﬂﬁlmaﬁmmmﬁﬁmﬁ
he now from his starting point? o N W R '
(&) 10m. (B) 15m o (A) 107, (B) 15 %, e
c () ;
( )sthm : ( )20m. e 2 (C) 5. (D) 204
~— WO

= : Tyt : at I
131C | CFIe oo YT

A\O @

\’—_-,SQ \Wm¢0

" ; ; o~ AL LT;—‘
\op V19 :
‘\6‘_ 0 -

s all




. ], [T B 204
. 125 If the simple interest for § years be equal to /% 5qy Pl AR 6% |
20% of the principal amount, then it.will be . TR

riXAﬁQqur /7A“ j;kff:jZ~pk\ ;xk‘*J

nA

equal to the principal amount -

&5 4 ¢ ‘A) in 20 years
(€) in 10 years

.126:

(B) in 15 years
(D) in 25 years
Area of a rectangular field is 300 sq. meter. If

Jength of its diagonal is 25 meter, then the

v

\oY K}

%,ﬁugia'ﬂﬁw‘ﬁm~

o A) 2075t 3 (B) 1574t ¥
i .
© 1oqstd P25
126. 5 SRR AaT T &bl 300 1 ex §
aﬁwﬁmzsﬁaﬁ,ﬁﬁ?ﬁm

vz |
| Perimeter of this field is - yit gi“ S gReg 8 — ; L w5y
b : =
(A) 84 meter - (B) 0 meter " e (M 847 (B) 90 #iex
l%ﬁ - . B
() 70 meter (D) 80 meter wAy=1 @)/70 Hex (D) 80 HIex
127. AVelrage of all even numbers between 320 and 2320 AT 350 @ HeT I AW HH HEWR 6
350 s - | gox™ ga?gv* él‘g g @ — 1’:’\7«9 it ¥y
(A) 335 o  _n~(B)%35" !  (A)335 ':;;» W (B) 3254 ¢ )
(C) 332 (0) 330 Ve 332 910) 330
128 How many triangles are there in the given /éi’ns‘ SRR st P ¥
5 . figure? ;
g : o
’ " “7 lv‘ > . \
(A) 16 (B) 17 816 - B 17
(C) 15 " (D) 14 €) 15 - (D) 14

‘129 I (+) means (X), () means (+), (X) means (=) uﬁ (+) BT 3125 (><) (+) BT 3ref (+), (x) BT 3

u\+ 3',_;,@“__“ and (-) means (<), then the value of

\»\5,\\
Wargr ' (- )R (- )avram‘( )&, ar

qryxn -~ 124+32- 8+2Xx1lisequal to- m;\ ! 124{3278&2“1@7%3“\’13?%—
e (A) 120 - (B)132 : & (A) 120 / (B) 132
—\—;‘L‘ . ' J ¥
(€) 121 (D) 144 (©) 121 (D) 144
130. A, B, C, D, E and F are sitting in a row. E and F. MB C,D, E3IR FUS uf & 943 T € ER
are in the centre, A and B are at the ends, Cis Fos (1) 4 93 § AR BoRf w8 &
sitting on the left of A. Who is sitting on the CTA @ T aﬁ? a—a—r e T @R A
right of B? p Yo d?
(A) A (B) F (A) A (B F
©F (D) p c DVf |




. 3 frdrr B ST R e ¥ gam 22

(A) ¥Te dnr wERIE J A1 W T (B) fema @ o Yo I ¥

(&Y a8 &R apft 7 2| (D) ofrgT &) SR IMTFN |
132, — fawe @1 g | 3T Rver g - :

(R) o — o @ fog (B faR — R ol

(C) AT — A b W (D) M — A7 ¥ e

133, fy o § forw e WOTART frar @1 i gem 27
(A) TEor wived @ oY oot T1 B @ T g A ws <@

(6 fsran =1 = L Y A (D) wrpfa & forg = s R
%ﬁm?ﬁwﬁﬁmmﬁ-@ﬁﬁag? il @ |
(A) e, wergafa S~ ®). s, TRARS W Lt D

GR(C) qRewm, TR AR ) e T
W'ﬁ%?ﬁma%mﬁﬁa—mzﬁmm%? \
‘ (A) ol Toar &1 = TR &7 Fag I B g | '
(B aifiare, W, W, R anfR e e e @ are 3| b
(C) Iyargdl ® T FA B fayg | _ . &
©) iR 3 R W T B g
196. farr Riveq & W U ok B T 82

(A) geivg, e, s , (B) 3rofq, Iefd, Y
(©) <o, anfas, fAfdr 4 (D) #rerE, oG, RaraR
[ L}lmﬁmﬁvﬁaﬁaﬁwzﬁrmgm%?

(A) Jfard —- eravares : (B) wfew — Hfew
() & — ™ ' (D) BT - MR

(138 <Y A gfie ¥ W Rver @ AR - 5

TP (A) % + IRE = eww SR () I + T = T
(C) =i + Sfq = \ O R + 337 = RenRrer

IR ARSI @ b T sy
(i) o1 =R @ @ ww B e ra—a-‘%.a R 4T 5
(ii) < @ e W v - ADEF
(iii) SSITT A M) 31, %, S, ® ,
(iv) sy o Ne) TR q

tor
)
’

A (i)—(@). (i)~ (iii}-@). (V=) ® (i)~), (i)~@). (iii)—(m) (iv)-(a)
© (i), (i), (ii)-@), (v)-@) © (i)=(@). (ii}=C). (iii)~(a), (iv)~(@)
y\’ﬁ{l@ AR BT =TT Py — - |
(A) 75 o1d &9 Gwg 27 (B) Fwr 5 %9 T av fvay
(©) U ¥ 915 B A we | (D). <21 <rEaT BT WaT amary v |
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Direction (141 to 143) : Read the passage carefully and answer the following questions -

But before | could be inspired by these amazing people, | had to cleanse my feed. | know my

weaknesses: just last week, Facebook memories reminded me of a pizza party I'd had two years

ago © | ended up ordering a chicken dorEnator with ga'.rlic breadsticks and an jalapeno cheese
di- . much for Day One of Couch to 5K tralnmg | stayed right on that couch. So far've unfollowed
eed Tasty,

TasteMade (even therr adorable Tiny Kitchen) and several people who have the
.ble: advantage of belng able to eat as much as they want and not put on weight. By my

calculations, dark chocolate is healthy So I m st|II foIIowmg Earth Loaf. Pascati and Mason & Co.

When'| fmally found a gym | liked wnth the best tramers [ have had | unabashedly shared my
workouts every day. From shying away from full-length pictures, | reached a point where | could

share videos of myself deadiifting and doing back squats with a barbell across my shoulders. It
gave me accountability.

141. Which of the following word in the passage means ‘very desirable’?

S (A) adorable (B) ‘enviable: i E
(C) cleanse inspi e ‘ :

& Wthh of the following is a 1 page related to chocolate?

(A) Earth Loaf

(D) inspired

(B) TasteMade

(C) Buzzfeed Tasty (B) Tiny Kitchen

143. The word with the meaning opposite to ‘shamefully’ in the passage is - -

(A) enviable _ (B) weaknesses .
(C) unabashedly | ' (D) shymg RS
144. Match the sentences in the Column (A) W|th appropriate prepositions in Column (B) —

Column (A) ' ' Column (B)-
" (Sentences) X:,D\r\ ; (Preposltrqns)

(a) The tram 1) . ... an accident. : | (i) for |

(b) Such an idea would never oceur .. @"d‘o . me. 1115 I

(c) He has been in this office ;(;,.( ayear. ' © (i) with® *

(d) Wise people do not belieyve ................ superstitions. | (iv) to

.(A}/(a)' i !_w)l (b) -,(iv)l (C) 5 (')l (d) . (“)

B) (@) = (iv); (b) - (i), () ~ (i), (d) = (ii).
(©) (a)— (i), (b) = (iii), () = (iv), (d) - (i)

() (@)~ i), (b) - (i), (c) - i), (d) - (iv)

- 131C Page 22 of 24



147.

148.

149,

145. Fill in the blank space with the correct phrasal verb.frqm the given options -

' The meeting was .......cwweee because of ba.d v.veather.k |
(A) called off (B) call back

(C) calledin ' (D) called back

146. What is ‘Pseudonym’ in letter writing?
Ly g

(A) Fictitious name (B) Name of the Editor

(C) Legal e (D) Real name
Choose the correct English translation of the given sentence -
H o R ¥ g B9 W U8 0 S SR AN SaR T €

(A) |take out my shoes and socks at the time of entering my room.

(B) 1take off my shoes and socks w-hile- entering my room.
(©) 1take m;t my shoes anq socks before | enter my room,

| (D) | take off my shoes and socks before entering my room.

Fill in the blank space with the correct determiner —

eevrssssmennnen: friends he has areﬂmfgr_(a.

(A) The little ' | : (3) Much

(©) fone (D) The few

Choose the most appropriate option -

~ Ashin said, “Shall I'ever win a gold meda_l?" (Change into Indirect Speech)

150.

(A) Ashin exclaimed if he shall ever win a gold medal.
(B) Ashin said that shall he ever won a gold medal. B
(C) Ashin asked if he shall ever have won a gold medal.

(D) Ashin wondered if he would ever win a gold medal.

(A) \give reserve players a,ghanqe el (B)‘ forfeit the match
(©) attackalloyt

team.

The winning team decided to go for the jugular in the last quarter of the match.

Choose the alternative which best expresses the fneaning of the underlined idiom/ phrase -

(D) give easy opportunities to the opposite



